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Precalculus

1. Determine if the following functions are one-to-one:

JRETE

2x +4

- 3x-1\

Qq; %
J ‘DX M-ﬂo ng - 3‘4—,~L(x
JIO;.B" )

3. Determine if f(x) and g(x) are inverses using compo f().}
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2. Find the inverse relation of f(x) = Sx-1 3!\3 dhe Aom“;n p_@ 'g- ()‘)
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4. Letf(x) =3x’ —2x and g(x)=/x+3 find:
a) (fog)(x) and give its domain.
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c) (g/f)(x) and give its domain.
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5. Write an equation whose graph can be obtalned from the graph of y= ‘x

by vertically compressm% bF a factor of 1/3, reflecting over the y-axis,
horizontally Shitting 2 units left and vertically SRifting 7 units down.
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6. Describe how the graph of f(x) = (x = 2)7 canbe -\_
i ) reflect X

transformed to the eraph of g{x) = —(x + 2)°
g
{ left

7. Find two functions f(x) and g(x) such that g(f(x)) =y
y=2(x-3)%2-4 §(>0= X-3
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g. the reflection of f across the X-axis and y-axis.
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9. How many gallons of 40% acid solution mus to 45 gallons of 20% acid solution to
‘L make a 25% mixed acrarc solution?
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10. Mr. Mustache received an inheritance of x dollars. He put it in a CD that earned 5% annual
interest and an additional 0.5% bonus yearly on the initial deposit.

a) Write a function relating the amount of money in the CD to the amount of his inheritance.

Sxy= X + .05x% +.00 Tx
b) If Mr. Mustache has $7385 at the end of the first year, how much did he invest?

1%8S = X + ,05%4.,005x
1335 = ) ostx

x = $7000
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